Name of the Trade : Architectural Draughtsman 1°' Sem - NSQF - Module 1 : Familiarization of trade, Architectural symbols and Sketching

# |Question OPT A OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1 [Which grade of pencil is softer for sketching? 2H 4B 6H 6B T8 T Pid TT A5 THIAT & [oIT 2H 4B 6H 6B D 1
A g7
2 |What is the use of 6B grade pencil? It draws light lines | It draws dark lines | It draws colour | Itis not useful |6B 33 YA &1 IUJRT FIAT §? g goohl @ g I QT g 1 @ (fRE 38T & v | B 2
lines for any purpose o & o & diar & 3gAeft A&
3 |What does NSTI stand for? National Skill National Skill National Skill | National Skill [NSTI& foT & ALreTel [eher ATt eher AT Tehel [Tl el ¢35 A 1
Training Institute | Trainer Institute Terminal Trade Institute cfeer sRegge | o ERecyge | cfdiaar sReege sfeeyge
Institute
4 |What type of line is used to show the invisible or hidden Centre line Dashed line Dimension line | Extension line X@AT & 3152 a1 BT §U 70N HI e @T 393 I@r AR @ TFaCeTe I&@T B 2
parts of drawings? @ & fov g YR &1 @r &1
U T ST &7
5 |Where can free hand sketching used effectively? Working drawing | Sanction drawing |  Site visits Detail drawing [shT 85 EhfeleT &1 3UATET yerral &9 & gfper 3TSaT TFAT 3291 | Arse AfSe gger [ECECIED C 2
drawing gl [T 1 gehar g7
6 |Which pencil grade is used to get light lines? 4H HB 2B H goohl TS UTed el o ToIw fohd 4H HB 2B H A 1
GTaer A3 1 39T fHar S1ar g2
7 |Which topic is not a part of architectural drawing? Stairs Roofs Doors Machines [l &1 fa9g ar&q grseT &I R&dm gl ifear odl gxarst aqMA D 1
g2
8 |What type of line is used to show centre grid of column? Curved line Straight line Centre line Parallel line [TdH & &g [I5 I fga= & fov fa gsh @1 el @ Fg 3@l AT @M C 1
YhR T @1 HT 39A9T I Jar 87
9 |Identify the architectural symbol? Wardrobe Bath tub Sink Gate QTN Yciteh el Tgelle] &? 3TAARY Y T FED AT
I\ / /\N\_/\ /] . A 1
| \// \\/ \/ | £
g
10 [What is the standard size for sub titles and headings 3-6mm 2 -4cm 8 - 10cm 12 - 24mm |39 et AR fdew & v Aaw 3-6 @AY 2-49#Y 8 - 10 9#Y 12 - 24 A+ A 1
recommended? 3SR FIAT §72
11 [Which one is one of the basic skill of sketching? Imagination of lines| Perception of light | Should know | Perspective [Th{AT & Hel Pl H T Hied AT U | oSl I dodadl | T AR ST | ASAARCH o | THdfded g & B 2
and shadow isometric view |view knowledge [g? Fr gro FI TS RE Al 3HTaTH
very well is required STl aTfgq
12 [Identify the architectural symbol? Stone Brick Concrete Wood QAT Yt I Tgeled &? qe2 3T Fshlc oIhar D 1
3
13 |What is the requirement of good lettering? Letters will be Letters to be Letters will be [Letters will have |37 JeR3T & FAT IMAIHRAT g2 & TS AT gat| 38 Wi ger | 318 ¢ gy | 37aRT & a9 grem | A 2
uniform colourful broken gap
14 |What is the purpose of sketching? To get accurate | Drawing can be To improve To learn the [THhIIIT &7 33T FT g2 Téreh TqATRsT SS9 HY fohall | Tohel &1 3TN T TN T B 2
dimensions made in any drafting skills | use T square gred el & fow | off AemH # Fh greaT 39T d@Ee H
medium using scale FATAT ST Tehell §| hierel &




15 [What is the study of shades and shadows cast by simple Elevation Calligraphy Sciography Photography [H1¢ Hdgl X Hel I RIed a1 a8 eIt ATIATHT ThICTITH]
architectural forms on plain surfaces called? CaRT 3Tl 315 TR AR ST FT
HEGYA AT Hgolldl 872
16 |What is the standard size for main titles recommended? 1-2 mm 6-12 mm 3-4cm 10-15cm  [3geifda A& M9E & AT A 1-2 fasf 6-12 TR 3-4 9. 10-15 9.4,
TR AT 87
17 [Which one is a type of line? Parallel line Spline Circle Arc FiA AT Th TR T @ g7 HATATAR I@T g 9 A I 3R
18 [How to prevent brush strokes while painting? Hold it tight while [ Add an additive to | Use more Use stencil  [UfEaT T THI 51T THh A1 A Teh? | 3TN A THI | o GHG o 39T 39T X TAT
using keep smooth water while while using 30 FAR ghs | el @A & |FAT A3fAF gl | SRS FT 37T
longer. using foT v dsrh F 3T A H
S|
19 [Identify the drawing tool? Set square French curve Flexi curve Metric scale (37397 ol &l Ygdlal? AT TFAR % &d Folrd! Hd Afew Tha
20 |What does numbers on paint brushes mean? No of uses Code of company | Weight of the | Thickness and [Je §12T W &I FHT FAT AdAT 7 FIg 3YATIT TgT FUA FT IS 2 FT Jalel Alers AR TS
brush length
21 |What is the purpose of the electrical symbol? Itindicates one | It indicates switch |Itindicates bell | Itindicates  |fdegd Wdieh & 3227 T 8?2 g Uh g FS) T Tad 9IS & [Jg °<T A 391 | IT§ TFSIEC el
way switch board exhaust fan g =1 1T g FXar g AT & Fr T T §
T &
=
g
22 |Which tool is used to draw vertical lines by sliding along T- Set square Flexi curve Compass Protractor T- TFARR & A1 TR AR AT TFARR Folord! Ha CaSIEs] diar

Square?

TSl B e & v FE 3ueor
T 39T T S1ar 87




Name of the Trade : Architectural Draughtsman 1°' Sem - NSQF - Module 2 : Solids and Plane geometry

# |Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1 |What is the conversion of 600mm in 1:20 scale in 30 cm 3cm 6 cm 60 cm AT YA @ Feed 1:20 3AE A 30 9.7 39 6 9.7, 60 T.HY. B 2
related with normal scale? 600 fA#Y 1 FoTaRoT FIT §?
2 |What is the technique by which the length, Tracing Lining Lettering Dimensioning  [dg cehelleh AT g Toldeh GaNT oITg, T ST 37T Tehet TqATRT D 1
breadth, height, depth, radius etc can be known? Tisrs, Sars, MEWs, BAear nfe Ara @
ST Fehell &7
3 |How do u terminate any dimension? By use of arrows By use of letters By use of numbers [By use of protractor|3Td frdt 8 fasTehet &l & FATCT SI0T o U7 8 (3&RT o 39097 & &3 & qeFel & A 2
X ThT 872 39N gaRT 39T A
4 |What is the conversion of 60m in 1:100 scale? 6 cm 60 cm 30 cm 20 cms 1: 100 Tt & 60 HIeT T FITAROT 6 T4, 60 9.7 30 9.7 20 9.7 A 2
FT 8?7
5 |Which solid object has 6 sides and 6 equal Pyramid Cylinder Cube Triangle e a1 avg & 6 9&T 3R 6 s} A elsy BEEEl EC & C 2
squares? I g7
6 |[Which solid object has 5 triangular faces? Pentagonal prism | Pentagonal pyramid | Hexagonal pyramid | Hexagonal prism & o1& a&q & 5 Peofig wa g7 JeRTeTd Oed | Uen fORifas ERICIEE gFarled UeA| B 1
fAs
7 |Which solid object has 3 rectangular faces and 2 Cube Triangular pyramid | Triangular prism Sphere e o1 ¥ H 3 3MIAHR Ha 3R BEEE By Az | Pt Bed el &1 C 1
triangular faces? 2 Bl e g2
8 |Which type of triangle has three unequal sides? Isosceles Equilateral Scalene Oblong e JR & [Rgs 7 A A= HHACIATg qHAS favH g 9o SRR C 1
[T It 87 0T qTell
9 |which is a three-dimensional geometric shape Prism Cube Cylinder Cone S T i [QHRT SAAIT 3R e EEEES Reis qH
object that tapers smoothly from a flat base to a &I T & S U FUE AR @ TH
point called the apex? fig g% gaw ® § T A §? D 1
10 [What is the conversion of 3000mm in 1:25 scale? 15 cm 60 cm 12 cm 90 cm 1:25 YATT A 3000 fAAT &1 FATAROT 15 9.7 60 T.HY. 12 9.4 90 THY c 2
1 g7
11 |What is the name of angle marked as ‘X'? Adjacent angle Complementary Reflex angle Supplementary |'X'& ®9 H RIEAd &I0T FT 17 F1 3Hewd HIOT qI& HIOT RoFelrd 10T qI& HI0T C 1
angle angle g7
X
g
A
:
@
z
a]
<
12 |Which one is an example of a sphere? Ball Book Glass Prism ST Teh el &l Teh 3GIE0T g2 EIry q&dh Fra IRl A 1
13 |Which one is an example of a cylinder? Brick Stone Circular column Hollow block  [FeiEX &1 3g1e0T il AT §? 3T e JedlhR T gicll solldh C 1




Name of the Trade : Architectural Draughtsman 1°' Sem - NSQF - Module 3 : Orthographic projections

# |Question OPT A OPTB OPTC OPT D Question OPT A OPT B OPTC OPTD Ans |Level

1 [Which one is a division of parallel Perspective Orthographic Dimension Projectors AR J&IIUT &l Udh [QHTST il AT | JOUIFed YaIquT | 3Tfanfthes garqor AT Motded B 1
projection? projections projections g7

2 |What is the plane perpendicular to the Imaginary plane Projection plane Vertical plane Horizontal plane |dldad del & olddd dol &l &gl Aldl g? | Hledfeld CTelel UTSTFele] Tolel FEAMER ool aifast dol D 1
vertical plane called?

3 [Which plane has top view of an object Profile plane Vertical plane Horizontal plane Parallel plane  |3iT2ifarither gatqor & W 915 a&] I QRIS Tolel FEARR ddl gifast aer HATAR dol C 1
placed in orthographic projection? N 7o g ao & &2

4 |What does PP in orthographic projection Projection plane Projectors plan | Perpendicular plane |  Projection plan  |3Tifanithes Wit & PP &1 g2 IoiereleT Telel TroleFe Toled TFIdd Telel IotereleT Telel A 1
stand for?

5 |What is the shape of the projection in front Rectangle Circle Square Triangle e Tolldeld # U&I9UT &l 3R FIT ¢ Aad Jecd g ﬁsga C 1
elevation if a square plane of 3cm stands Ife 3 QA T Th I Tol 3T FEIOT
vertically to its projection plane? ol & dedd g7

6 |What shape is obtained if a point is placed | Point from all sides | Line from all sides | Square fromall  |Line in plan and dot [If& t& &g &ifdst da & 3cm I Teh args @ g | @l @res @ @ | @sh @ss A @91 | ad A W@ 3R A 2
on the horizontal plane 3cm above? sides in elevation AfasT dof I @I AT &, O FAT THR Fars # foig

B I Y

7 |What is the shape of the projection in plan if Line Point Circle Square T H Y&YUT & 3R T g Iie 3 BIEG] fag ged gar A 1
a rectangle plane of 3cm x 5cm stands QAT x 5 AT HT Th IFARR el 39
vertically to its projection plane? J&IUT Il & foIv dead gI?

8 |What does HP in orthographic projection Horizontal planning |Horizontal projection| Horizontal plane | Horizontal projector |3frafanfthes Sotarelel & HP 3T g2 gIRSllecel Colfeldl |gTRSllecel Uolaelsl| BIRollecd Told | gIRelleed Woldel | C 1
stand for?

9 [How many sides does an decagon have? 12 sides 5 sides 2 sides 10 sides Teh Sohel T fhclell T Bl o7 12 T e S 2 gSTT 10 ST D 1

10 [Which view has two sides inclined at 30° to Isometric view Axonometric view | Perspective view Side view FEANR 3787 9 af Arsar &l 30 ° W/ IEEIACE g | uEFAAAReE g qHqTFea o RIEEEC A 1
the vertical axis? SIhIa &1 ar Siel &1 g gram?

11 |What is the projections that are obtained on | Axonometric view Isometric view Perspective Orthographic J&UT & ol T ofeddd F&or @3 TFAAARGH o | 3ITSAATCH of | Jadieed ioteere | 3dfanfhes D 1
the plane of projection by drawing parallel projections projections H Waeht J&UT & ol 9K UIod glet groterer
projection lines perpendicular to the plane grel GTSTereleT I FAT Hel ST &7
of projection called?

12 [Which one is a four sided figure in which all Trapezium Rectangle Rhombus Square HleT AN Teh TR-G&NT 37ThsT & o R ECC] 3Iad TqYFHeRIOT g C 1
the sides are equal but not at right angle? T W58 A § Wo HHADIOT FET 87

13 [Which projection is obtained when the Second angle First angle projection Third angle Fourth angle TUH TURI A TG W A T BT GEXT VT Y&IYUT | Ugell 10T J&TIUT | ATERT HIUT Y&I9UT | TIT hioT g&iqor | B 1
object is placed in the 1st quadrant? projection projection projection AT J&I90T gred giam g2

14 What does VP in orthographic projection Vertical planning Vertical plane View plane View planning  |3TfanThes dioteel & VP F7 82 éTahel Tolfeldl FEATER dol g ol &g celfeler B 1
stand for?

15 [Where is the front elevation placed in first Above the plan Below the plan Right side to the | Left side to the plan [J2# &TOT J&IIUT F e ToldRlel gl dd & 3W dad & A Tl % GIT W% | Toled & dU % | A 2
angle projection? plan grar g2

16 |Where is the plan placed in first angle Right side to the | Below the elevation | Above the elevation | Left side to the  [J2 SIOT J&IIUT F Told &l gl @I Tlaes & & Tl & AT | Tollded & FW | Todud & a5 B 2
projection? elevation elevation ST 87 3R 3R

17 |Which projection is obtained when the Second angle  |First angle projection Third angle Fourth angle dEY TR H aE] W@ S W Bl GERT HIUT F&IYUT | ol HI0T F&TquT | fIERT ShI0T J&Iqor | TiAT o garqor | C 1
object is placed in the 3rd quadrant? projection projection projection AT J&I90T gred gam g2

18 [Where is the left view placed in first angle Right of elevation Left of elevation Left of plan Right of plan JAH HI0T J&IIUT H S1AT €T Fgl @l Tl & G5 | Tollded & &% Tl & &T¢ Tolel & v A 2

projection?

ST 87




19 [Identify the type of View? Perspective view Isometric view Axonometric view Front view Y & YHR Sl Ggdled a? qadfaed < ISAIACH o | TFAAIACH 7T We g
g
H
20 [Where is the plan placed in third angle Above the elevation | Below the elevation Right side of Left side to the  [cGX 10T Y&I9UT H Toled Sl gl I@T Tl & FIR | Tolldlel & oi1d | Tolld¥el & &I | Teldd & av
projection? elevation elevation ST 87 3R 3R
21 [Where is the front elevation placed in third Above the plan Below the plan Right side to the | Left side to the plan [T I0T & Y&IqoT & the Tolldelel ol Toled & 3W Tl & o Tl & GV 3R | Teld & a0 3R
angle projection? plan Fgl @1 AT 87
22 [Where is the left view placed in third angle Right of elevation Left of elevation Left of plan Rightof plan  [dRIX &OT & J&IIuT H a7 T gl TAdeld & gI¥ | Tolldele & aIv Tl & &0 Tolel & GIT
projection? @1 ST 82 3R 3R
23 |Which projection is commonly used by Second angle Fourth angle Third angle First angle projection |HTHAAR T IEJHRI GaRT fhd Faiqor GOXT SIUT G&IqoT | AT HIOT FaI9oT | AFERT HIOT J&IIOT | JUH HIUT F&TqoT
architects? projection projection projection FT 39ATeT fhar Srar 87
24 [how many quadrants are there in Two quadrants Six quadrants Four quadrants Eight quadrants  |3dfanfther JeIqor & fohca T il ar agan BE aAgAUT IR TG AT 8 ag U
orthographic projections? gl g2
25 |How do you find third angle projection? Plan is placed Plan is placed Plan is placed next | Plan is placed next |39 TERT 0T Y&IU0T &y 9Td &7 da 39 RByd Toled A BT | ol Telldeed & | ol TelldRIed &
above and elevation | below and elevation | to right elevation to left elevation 3R Telaee A | 3R velaes 3w g Bua Se g

is place below

is placed above




Name of the Trade : Architectural Draughtsman 1°' Sem - NSQF - Module 4 : Masonry and Foundation

# [Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |[Level
1 |What is the purpose of laying foundation below Toincrease the | To decrease the | Toincrease the | To decrease the [Soell TR & i =g W@ T 322 TATOT SR & EEACIG AT R T H | AT & dlehd C 2
ground level? construction cost workability stability of the strength of the  |&FaT &7 Jelat & fau o & fow TERAT &l §gI7 | &l HA A &
super structure structure & fow T
2 |What type of wall is constructed to resist the Retaining wall Buttress wall Parapet wall Cavitywall  [J2dl & #Rel & Gald &l TAUY el & qefaer arer FF  GaR WIe GlaR FiAeT arel A 1
pressure of the earth filling? v fFa ypR I far &1 [T
fRIT ST 87
3 [Which type of bond is done in ¥z brick wall? Header bond Stretcher bond | Diagonal bond |[Herring bone bond|1/2 3¢ % GlaR # A YR & Sies g dies T Fies fQpoT sles gIAT dleT dles B 1
fRam STaT 87
4 |What is the vertical joint on the face of a wall over Header Backing Perpend Closer THR P H FEAER S8 ] Th &= Sfehar qd3 Follolk C 1
vertical joints in alternative courses called? daR F Y 9 FEAR SIS FAT g7
5 |What is the vertical sides of doors and windows Lintel Arch Reveal Jambs gXare AR T@sfRar & & ol¥ad el e Rdrer e D 1
openings called? ATSST I AT gl ST g?
6 |What is the depression mark made during the Header Frog Stretcher Course T 53¢ & AllesdT & GRIA de1 TG (58 ThIaT TR Eon] B 1
moulding of a brick called? & AT FT FIT FFT SATAT &7
7 |What is the top most course at plinth which is Parapet Coping Plinth course Quoin Ty R Fod 3R A il A1 8 RIT HITaT Ty a4 oail C 1
finished flush with the surface of ground floor called? 58 A38 Fa A Idg & 1T FoaIl
gaTed fRar ST g7
8 |What is the extension of one or more courses of Corbel Grouting Template Bed surface [T ERTATCH® HGET Hl AT HlaA Fidel AT3TET [ oTor TR Fr adg A 1
stone from the face of the wall to support a structural & foIT §laR & dgy ¥ 92X & Tah AT
member called? T ¥ 3ife S F fGrar Fr g2
9 |Which bond comprises of one course of header to English bond Flemish bond [Herring bone bond| Dutchbond [F=R & i\ (AN N & Th ST & 37T dies Tl Al dics gRaT dieT Sl 3T dles D 1
three (or) five course of stretcher? HisT T dies AT &7
10 [What should be placed at the beginning of every Half bat Queen closer | Three fourth bat King closer  [3taltR 53 & ael & Tl 37t 3MeT S FdleT FolloR CGIEICIEE ThaT Fellolk B 1
header course in English bond to avoid vertical joint? dles F g g3T I I YT H FAT
@1 A= arfgu?
11 [What is the stone extending throughout the Drip stone Through stone Corbel stone String stone  [GIAR T AR X H thel TR HI 39 T o Tl PR Tl T Tt B 1
thickness of the wall called? FIT Fgl SIaT g7
12 [Which one is the principle of construction that is Brick bats should Any quality  |The bricks should | Perpend should [/#ToT & a8 i &1 gl & o §¢ | $¢ d¢ &1 JUEHa | fhdr o quracn | e & 3m9g § | 9ds a7gl & S | C 2
observed in brick masonry? be used as much | cement mortar | produce metallic | not be provided |6 RS & @ JATaT 2 39T fRaT ST | arel dFe AR | Ta & arfcas BlIIHY
as possible can be used ringing sound aifgw Fr 39T fohar ST | 997 eafd 3cdeat
when struck TehT & T Tfew
together
13 [What is the part marked as ‘X'? Queen closer King closer Bevelled bat Header X'F T A REAT AET F1 82 FdleT FolloR THaT FellolX §des ¢ EL A 1
S nann
[T 11 ?,,
5
q
14 |What is the purpose of toothing in brick masonry? To lengthen the | For decoration |To avoid rainwater| To prevent from (3T Ta=ilg & ¢IAeT &1 323 FT 82 HIqST H IR H TG & 32T & | SIRY & Tl & [ShichaT A 51 & [ A 2
wall in future purpose cracking & FA & fow o g & forw T




15 [Which one is the principle of construction that is Stones should Stones should Height of the | Stone should not |/@#ToT &I a8 Hl= &1 gl & ot 2RI $I G315 el qee’t H TR Fr FA15 W H Th
observed in Ashlar masonry? not be dressed | have compact | stone should be have uniform  |31RreR RS & @r 1T g2 Fr ST FiEdeFeda 3R | 100 A T FA | FAT T A6
grains and less than 100mm colour Th A do1dG¢C gisr =nfew RGIECIRY
uniform texture RGIRCIRY
16 [Which masonry is more heavier in nature? Glass block Hollow block Brick masonry | Stone masonry |l & g UFHfad # 30F # 5?2 | TG sl AR | @@ sl DaATg sc RIAg IR &1 g
masonry masonry
17 [Which type of masonry is built without dressing? Ashlar masonry |Uncoursed rubble | Coursed rubble Composite 3T & foeT1 Fg UR T RS Fr 37TeR RS 3T W S | HIY WA [AAs | HAATSE TS
masonry masonry masonry AT foRar STar g7
18 [What is the Standard size of traditional bricks? 200 x 100 x 50mm 230x 115 230x 100 x  |230 x 115 x 75mm|dRuRe ST &l AlTh HHR FAT &7 200 x 100 x 50 f&#T | 230 x 115 x100 230 x 100 x 115 | 230x115x 75
x100mm 115mm =1 & =1
19 |which masonry has the edges round the exposed Ashlar fine Ashlar rough | Ashlar chamfered | Ashlar facing |#ld @ RaS & FaRT &t 25 @ ar 372N IS 372N Th ¢os 3R AHBS 3726k BT
face of each stone are bevelled off at an angle of 45 tooled 309 s T TS & T g3
deg for a depth of 25mm or more? U & IR Ag Hl 45 33l &
HIOT X & fhar Srar g2
20 [Which stone masonry has uniform stone sizes? Coursed rubble [Uncoursed rubble | Ashlar masonry | Random rubble |f&& TeaX &1 FIels # A e & P WA s | AR W&ol W5 | AR 1S A W O
masonry masonry masonry 3THR BT 82
21 [Which one needs clean dressing by chisel? Stone Brick Glass Hollow block  [fFaehT G315 Selt & &1 STl dTigU? qe’ 3c HT glell scilsh
22 |Which kind of brick bond is used for flooring? Flemish bond English bond  [Herring bone bond| Garden wall bond [&e & foIv fhe aRg &7 3¢ a1 FATHLT o3 IS Sl gRET 91 Sles | IS aTe dles
39T fRaT SITaT §7
23 [What is the purpose of piers? Pillars that Flooring bricks |Alternative course | Main course in [TOZT T 3827 &1 &2 TH S gell § IS %L T 3¢ 3q dles A FATHYT dlcg H
transmits load In dutch bond flemish bond &l A B THledR I qET HIY
from bridges
24 |What is the thickness of wall for stretcher bond? One brick think | Half brick thick One and half Two brick thick [F¢TR e & foIT SIAR #T Al T 3¢ AT 3l 3¢ A 3¢ gc Al ar 3¢ A
brick thick FT 872
25 [Which bond consists alternate header and stretcher Zig zag bond Diagonal bond English bond Flemish bond  [Fcd&h ®IRT H Fld & dles H dehicdh ST 9T dles AT dles 33T dles FATHL Sles
in each course? 83X 3R T g a 87
26 [Identify the type of footing? Inverted arch Stepped footing Pile footing Mat footing  [PTEeT & Yeh T TgaTel hi? 3o¢ AT Gl TUS Picar qrse Hiear AT plear
footin
- - A g
GL
g
27 |What is hollow concrete block made of? Stone powder Brick ash and Cement and Mortar and TGl Hehic sclich [haH Fal Bl g2 | TR & O AR | 3¢ A T@ AR I | HH 3R Tl | AR 3R gaed
and lime sand aggregate reinforcement Tell
28 [What is the advantage of hollow block masonry? Light in weight Colourful Lintel and beam [It is transparent in [@aer sclldh TS I FAT BIRIGT &2 TrEel TAA & e [T g |foleel 3R 1 7 | I Topfa &
due to hollow | masonry canbe | is not required nature FRUT Told H godhl ST el & 3MIRISAT el & greeft &
spaces created
29 [What is the advantage of pre-cast concrete piles?  |Piles are heavy in | Piles can be Piles requires Piles are W-HIEC Fshlc UTSel T FAT BIIEl §? | TIgel dofel H HRY | TIged &l Il & qiged @l qged fheIdr &
weight driven in water extra economical RS TATIT ST HohaT & | JfaRead gaa=t
reinforcement Fr 3TIIHRAT
] . ] RGIE
30 |What is the disadvantage of concrete block? It is cheap Itis expensive | It can be neatly | Finishing is not [&shIc sclleh T JHAT FAT g2 g TEAT £ Y HgIm & Jg qUId: Ja ar aRsHIOT ST
grooved required HhdT ¢ 3TARTSAT G &




31 [What is the cause of failure of foundation? Use of stone Using expensive Weight of Unequal Ag F [SHeldr T HROT FAT g7 el B s #r | Fgel @A F1 | st # e | 37 Ae @
masonry materials windows settlement of sub 39T 39T HLAT AT JTAHT
soll
32 [What is the safe bearing capacity of the soil? Ultimate bearing |Lateral pressure / |  Shrinkage / Compact soil /  |f&gY & gIfaTd ag«T &7AaT & g7 gIen &1 AfaA  [dRd a9 / ol AR|  Heprael / 91ed Hredec g /
capacity / factor total load lateral pressure | factor of safety IR AT / e gara therex 3TH AwCET
of safety 3% AR
33 |Which foundation is commonly used in ordinary Grillage footing | Spread footing | Well foundation | Pile foundation [@TAT SARAT & JHAR W T =g farferar gfcer s piear ol B33 qISdl B33
buildings? FT 39T fhar AT g7
34 |Which foundation consists of steel or wooden joists | Grillage footing | Pile foundation [ Column footing | Raft foundation [EETer aT Wehs & STECH FI oiid fhd faretar gicer qisel BI3seel HloTH HieaT TqFe siig
arranged in stepped manner? TROT H &Y TS &2
35 |When the bearing capacity of soil is low which Spread footing | Column footing | Raft foundation Grillage SIS TAEY T dgeT &THdT HA gicl g of IS Pica HleH e e oiid PEEIGICE
foundation is provided? foundation  |Hla & g deeT FHr T §?
36 [What is the other name for stepped foundation? Well foundation Bearing pile  [Spread foundation Benched TS W33 BT AT ATH FT 87 o Ad TIRT 918l =i T Al §T8 W38
foundation foundation
37 |What is the purpose of shoring in foundation? Toincrease the | To support the To reduce the | To excavate the [dfid & MReT &1 32T &1 8?2 oAld T NI Sl | ofhsl @ fld & |dld I Fug HA | & P Gars
cost of the sides of the height of foundation F fow R &1 FHIT F F fav A F TaT
foundation foundation by foundation FA & fov
timber
38 [Which elements are considered as dead load while | Walls, slabs and Movable Movable furnitures| Moment of people [fil@ cIR &R THT fohed dcal HT 38 | GAR, Told 3R &1F7 T ALMAT T Sl AT SN T FHOT
designing foundation? beams machines S AT ST 82 AT
39 [How are concrete piles more different from wooden Concrete piles [Wooden piles can | Concrete can be |[Termite treatment EI-Tsﬁt & T TP F & T FH 37T Fhle & 3T EEE Fehie 3—7 X Fr Fohic T s e & folT
piles? are more durable | be casted to any | easily broken |is not required for |g? T Joletl A AR | JAAT H ehsr & & gorerr H AlHdR & 3R
than timber length than than wooden timber & gid & T 1 foRelr o (AT & ST S | JHTaRTRAT g
concrete pile CEIE: RIS HehdT & 3
bl §
40 |Which statement is true for well foundation? Well foundation is [Well foundation is [Well foundation is [Well foundation is [def si/@ & T Pl AT HUT TEY &2 AT A & [T | 9 g F eaT | A ST %:ﬁ F |3 a#r Bl
normally adopted | normally adopted | normally adopted | normally adopted e Alg FI IIAIT | dTell Tdg & o | AT 9= & A | & fhart & fav
for ordinary | for sloped surface| under water for | for sides of lakes ST § YA ST & 3TATS ST § 3YATT ST &

footings

bridges




Name of the Trade : Architectural Draughtsman 1% Sem - NSQF - Module 5 : Carpentry joints

HH*

Question OPT A OPT B OPTC OPT D Question ] OPT A ] OPTB ] OPTC ] OPT D Ans |Level
1 [Which joints are formed when two wooden Widening joints Lengthening joints Bearing joints Corner joints ~ [efehsT & & HEEAT I AISS  AISS grssfar i Jdeufae s foaRer S FR N3 A 1
members placed side by side? AR I@ W DT T ST HT
fr#AToT grar 872
2 [What joints are formed by making a groove in Lengthening joint Widening joint Tongue and Rebated joint |Ueh gehs H Teh [d 3R g@E¥ H fWhelc ol g arssiaer sis <97 TS I[d I3 Rees s C 1
one piece and fillet in another called? grooved joint A  FleT IT AT Tl 8?2
3 [Identify the type of widening joint? Butt joint Matched and Ploughed and Splayed joint  |d131g S aTel SNg T Ygdlel HL? ¥c S #AT2 UZ i3S g | ToldT US <918 S8 TCelg SIS B 1
beaded joint tongued joint
4 |Which one of the following is a lengthening joint? Dovetail joint Lapped joint Tongue and Butt joint fo@d § & Fid I1 Th oldls gdcd Siig otz g g9 US 3[4 g §c Jis B 1
groove joint oY aTell SIS 87
5 |What is the process of joining two wooden Housing Seasoning Rebating Mitring gl ohsT & HGEIT &l Uk VT G QEIRE Hrotfetar Rafear AR D 1
members at an angle? Homer $r ufshar Far g2
6 |Which one is a bearing joint? Tabled joint Cogging joint Fishing joint Lapping joint  [®ld &T T §IRIT N3 82 gseg Silg FIFET At TRiRTeT S e Sg B 1
7 |What is the name of part marked as ‘X’'? Bridle Tusk Tenon Horn X & ®T H REAd HRET &1 a1 F:41 CIEEG TTh (G gloT C 1
g7
g
5
8 [Which joints are used in doors and windows? Framing joint Angle joint Lengthening joint Side joint eXarel iR T@sfRar 7 &l ¥ Shar HiHT SN HIOT S AT SN hq1Es Slige A 1
&1 39T fhar Sar 82
9 |Identify the type of lengthening joint? Splayed joint Dowelled joint Tabled joint Dovetail joint  [oleTIaT NS T Tgdlel H? Tl S 3lges Slig gse3g Silg 3acd S8
8 C 1
B
3
o
7
4]
<
10 [What is the process of making round holes in the Chiseling Assembling Boring Sawing TAfHeeT TUA W oTehal H Ml B Arsiferat 3THHASTIT ST Hrsar C 1

wood at various places called?

Fotet T Ufshar & AT FHgr SA1ar g2




11 [Identify the type of joint? Dovetail joint Mitred joint Dowelled joint Butt joint SE & YR I Ugdld ? gacd Silg ABCs A8 3des o3 §c S8
g
2
12 |Which one is a narrow strip of wood nailed over Nosing Veneering Bevel Dowel The & Sl 9T [T TThal sl T ENEEL ICEnETl Sad ol
joints of wood? gdell 9gT 8T g7
13 [Which joint is used for wooden flooring? Widening joint Bearing joint Framing joint Lengthening joint [clhar & ®T & ToIv fhd IS &I qrssfaer i foaRer g hiHT SIS eyl Sl
39T fRAT ST 872
14 |What is done for getting smoothness of the Planning Rebating Moulding Grooving 3aeTF AlCS & [T sl S Tdg CRATTdT fear TS DGEEl
wooden surface to the required thickness? Fr s gred e & forw F=1r
fRaT ST 87
15 |What is the purpose of angle joint? To frame a corner | To increase the To widen the To provide PI0T NS HI 32T FAT g2 Teh @lel IT IV [FATS S6Td & [oT| Te&dl &I A1l | ATFd Tered e
or angle height members strength FI A FA & T A & fow & fow




Name of the Trade : Architectural Draughtsman 1°' Sem - NSQF - Module 6 : Doors and Windows

# |Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPT D Ans |Level
1 [Which type of window is provided on a Skylight Corner window Dormer window Bay window  [JehT2l &I TAIHR el o 01T Golled THIS dlSC P Fr @shHr 3R sy CREE] C 1
slope roof to admit light? Bd W 5T 9eR T &Hr ger=
$r ST 87
2 |What is the horizontal projection of door Horn Style Transom Mullion EXaratl, €8 a1 [&dl &I &ifdel J&Tqor I g crarH Ao A 1
head or sill? Far g7
3 |What is a cut in a frame of a door to receive Beading Stile Horn Rebate AT YTed el & AT eXalel & Th ENED TS (3ETeT) gleT Ree D 1
the shutter called? P H Feldr FaT 87
4 |Which of the following window frames has Pivoted window | Casement window Bay window Fixed window  |[etfaifad & @ fha fast %at & are fJsr FaHC fasr g fasr Theres fasr A 1
no rebate? FIg FC Gl 872
5 |Identify the type of window? Casement window | Pivoted window Sliding window Fixed window [f&ShT & YR T Tgdle] Hi? sgHC 1aar fare fasr Tz fasr Theres fasr B 1
6 |What should be the minimum width of a 300mm 900mm 750mm 1200mm QAT & &Idrat 1 ~GIdH dIsTg 300 fA#Y 900 fA#Y 750mm 1200 AT C 1
toilet door? FIT AT A1fgu?
7 |Which type of door is provided for additional |  Glazed door Flush door Laminated door | Wooden sliding [3faRed Jarer & foiv o 9&R &1 Tolos Xdrall TFelel gaTall JfAIcs axarem | st &I thdelA A 1
light? door EXarslT el fohar Srar g2 CICIRACIS I
8 |What should be the minimum width of a 900mm 500mm 1200mm 1500mm ISEH & Xdlat ol goAdH g 900 fA#HY 500 TR 1200 AT 1500 f&#Y A 1
bedroom door? FIT gl a1fgu?
9 |What is the part marked as ‘X'? Hinge Hold fast Horn Stile X & & 7 RfEAT smer F727 872 Eoat gles BRCT gleT TS (3 B 1
[ ]
— | 77 T | =
— | K
— | | L | | =
i
10 |Where are flush doors commonly used? For external doors | For main doors For toilets For security doors |HTHdR 9 el?l EXdTsl gl 39T | Sg eXarell & [t | §&d exarett & fow | <ffarer & fow gengar & fav | C 2
T I 82
11 |Which type of doors are provided to prevent | Louvered door Revolving door Flush door Fly proof door  [ATF@aT 3R AToT & U3 &l Ahad dlas earet YHA dTell STl eIl eXdTatt Fls YF 3R D 1
the entry of flies mosquitoes and insects? & foT g 9R & eXarel Jerd
e e €2
12 [Which one is a kind of metal door and is Panel door Glazed door Flush door Collapsible door |@lsT &T T FI eIdleT g 3R el garelm Tolss garal Tl ATl Fleafldd gidrem | D 1
used for security purpose? SHHI 3UANT GI&T & 3227 4§ fomar




13 |What is the standard sill height to provide a 1200mm 900mm 900cm 750cm T T@SH Geld A & [T Al 1200 f&#Y 900 &Y 9008 #! 7509HT
window? [ Fa1s Fa1 872
14 [Identify the type of door? Louvered door Flush door Batten door Glazed door [e¥aTal & YR &I Ugdled ? Alas gIaren FoTel EaTStT deo earen Tolsg gdrel
z z
7 5
& 5
7 5
b2 7
ja ha
z ha
]
g
15 [Which type of door does not have any Swing door Panel door Batten door Glazed door  |fhE U&hR & Tl H HIg RAC #Ae] | HHIATeN EIaTel Yool gxarstT SceT gt Tolog ldrel
rebate? gl 872
16 |What is the purpose of bracing in batten To increase the To provide It provides more It reduce the  [dea cIaTel H ST T 3T FAT g2 | oIl &l FdA18 garst #I Follac g cIaret &l Ig cIdral & goledl
door? height of the door | decoration to the |strength to the door| weight of the door ol & fow 9eled Hel & fov [31fF A Yad | A FH AT ¢
door AT &
17 |What is the standard frame size of a 20 x 100mm 60 x 60mm 75 x 100mm 100 x 100mm  |Ueh SherHT [WShT FHI ATh el 20 x 100 &Y 60 x 60 THHT 75 x 100 T&#Y 100 x 100 f&=T
casement window? 3R FIAT &2
18 |Which type of windows is ideally suitable for |  Swing window Steel window Bay window Corner window [&ell AR Sielsil & T & g S GURECEL A Tl g ERRECEED] P Fr @gH
schools and colleges? &1 fEsfear e &7 8 39gFd &2
19 |Which type of windows is ideally suitable for | Panelled window | Clerestory window | Metal window Dormer window |f[@ara & foT g TR N T@eHIT | Aol aren W | FeoEery @shr o 1 @S 3T Far
residences? e §T A 3UGFA 672
20 |What is the standard thickness of shutter for 25 - 35mm 20 - 30cm 10 - 15mm 10 - 15cm @sfrat F fow aeX i A8 A 25 - 35 fa#T 20 - 30 §.#. 10 - 15 A= 10 - 15 Q=Y
windows? T 87?
21 [Which type of window has an outward Dormer window Corner window Glazed window Bay window  [F#R FT SR & FH YR ST Gt CE FIT ST TWsHT Tolos st ¥ sdhr
projection from the wall of a room? Qs 1 TiEd T8gur gar 87
22 |Which type of hinge is commonly used in Strap hinge Parliamentary Garnet hinge Butt hinge IMHAR W WsiFa & F9 var &1 Y Beal giferame fReal IMeie et ¢ ool
windows? hinge oot forar Smar &2
23 |ldentify the type of hinge? Garnet hinge Parliamentary Pin hinge Strap hinge Beol & YR ol Ugdlel Hi? IMec Tgool giferame feeol O Reat T el
hinge
24 |Why are wedges provided in a door joint? To decorate the | Toincrease the |To easily remove it| To tighten the joint [3R Sgc & doisT FAT AT ST 8?2 | &XaTSl I Tollel & | Jolel 96l & [oIU |38 AR & gl |8 Pl hded & ol
door weight ICIy F fow
25 |What is the standard size of an ventilator 100 x 100 cm 300 x 230 cm 1200 x 900 mm 600 x 600 mm  [*fTerd & foIT Yere fohv 1w 100 x 100 |#Y 300 x 230 THY 1200 x 900 fA#T 600 x 600 TRAY
provided for toilets? dfeeT 1 AS HER FAT 82
26 (Where is mitre and butt joint used in a door? | At the handle of Atthe lock rail | Atthe corners of At the horn T eXalal H AR 3R §¢ SNs &8l | ae & 85 W |l Yol W gydrst & Pl W RGIRES

the door

the door

39T fRaT SITar 827




27 |Which type of door enables air to pass into | Collapsible door | Wire gauged door | Rolling shutter Panelled door  |fhel YehR I EXATSTT §dl & AR H | PicldAdel eIarell | R A5 eIdrs AT 2rex YAel aTell garslt

the room and prevents from flies? IR R H FaTH AT § 3R
AfFEAT & ST 82
28 |What is the purpose of skylight? It provides It provides extra It provides It decreases the [T T 32T FT g2 Tg Bd N Al |IE Od ¥ faRad Ig ©d d& Jg AT A AR
strength to the light from ceiling | movement to the cost of the Yeld T § TehIA UeTd T § 3TaTSTer Jered HI HA IAT &
ceiling ceiling construction AT &

29 [Which type of joint is used for lock rail in a Dovetail joint Butt joint Splayed joint Fishing joint [T aarel H @l IoT & [oIT [ohd 3qcd Sig §c Sig T3 S8 TRIRTeT SN
door? YPR & SIS HT 3T AT J1ar g7

30 |Which type of hinges are used for batten Garnet hinge Butt hinge Spring hinge Rising butt hinge [seaT garst & foT 59 9R & IMeie fReat ¢ ool a1 fReat TsfeeT 9 Bt

door?

oot 1 3UYer fohar Sirar 872




Name of the Trade : Architectural Draughtsman 1°' Sem - NSQF - Module 7 : Arches and Lintels

# |Question OPTA OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans|Level
1 |Why is lintel preferred against arches in some Arches require more Arches are Arches cannot Arches cannot o fAA0l § At & fWerd 3 & AU 3% | dael TARS & | hdel TARH & Aed o3 Al 2
constructions? height to span  |constructed only for | withstand weight transfer load P FAT ghE RAT ST §? | FAS AT AEATSAT | T A Fr foT AgUa &1 | TUTATROT T F
monuments gl ¥ faAToT R Sar &| @At e Smar ool
g
2 |What is the depth of an arch? Distance between | Distance between |Distance between | Distance between [U& RgUd &T IS fhdeil &7 eI 3R STl TR 3R RIERIEIE] FET 3R IS | A| 2
intrados and extrados| ground level and | springing line and | crown and ground TFEEST & o fr | AT o & |Sehel 3R gesig | o & dg &
springing line intrados line g T & gl & o 6 gl g
3 [What is the central voussoir at the highest point of Rise Soffit Span Key stone a9 & 3TIdA 6 W Fard REx Aifthe qre Fr T D| 1
the arch called? JIEORR & FAT Hgl ATl g7
4 |What is the temporary structure that supports Tile of arch Beam of arch Centering of arch | Column of arch |3l T &1 § o 0T & 37T &I eIsa HEUT &l o H FEUST T hgUl ARG M &TEOH | C | 1
arch during construction? R aTT 7 §FEYST FAr &7
5 [What is the standard height of lintel bottom from 2100mm 1200mm 900mm 1500mm e 3R f@?ﬁw‘zﬁ F foT g 2100mm 1200 TR 900 AT 1500 A+ A 1
ground provided for doors and windows? &1 915 ST & foleel ool &1
AT FA1S F4T &7
6 [Which member acts as a beam and is provided Column Lintel Cornice Sunshade Pld T AT Th o1 o & H EaH o P IS B| 1
above door and window? FY T & 3R a3k
EsH & IW YT fRar Srar g2
7 [Which type of lintel is suitable for timber Stone lintel Wooden lintel Concrete lintel Brick lintel THI & TAHAT & T fhE TR el folce g5+ fece Fohrc foica o Tolcar B| 1
construction? &1 foicer 3ugad g2
8 [Which type of lintel is not suitable for a span more RCC lintel Stone lintel Brick lintel Steel lintel | gR 1 foeer 900 A+ & IR feree Tl Tolcal o folcar et folea cl| 1
than 900mm? HiRH T & v 3ugard =181 82
9 [What is the outer curve of an arch called? Haunch Extrados Intrados Soffit 3T o STEAT dsh I FAT gl ofldl g TFECTSI e Alfthe
g? B| 1
10 [What is the purpose of skew back in an arch? To reduce the height [ To provide the span| To support the To rest the Teh 3Td H TG a9 1 3527 FAT | HAS ol Fd1g HH | T Yeled el H T Uil | R TgRT A | D | 2
of arch key stone abutment of the arch|g? FT & T F foro FA & fow F fow
11 [Which type of lintel requires reinforcement? Wooden lintel Brick lintel Stone lintel RCC lintel e g & Toicel I el gse Toicel o Tolcer el folee kA felcsr | D | 1
T HGIHAT il 872
12 |What is an intermediate support of an arch called? Pier Span Haunch Key stone Teh 19 o ALIAd] TER l FAT By qrc g I T A 1
gl SATdT 872
13 [What is provided to brick lintel if the span is more Reinforcement Cement concrete Mortar Cleats i ge 900 A & 3iferss & ot FECC e Fshic A Feollc Al 1
than 900mm? gc folcel & F4T Y fhar Sirar
g7
14 [Which type of lintel is provided for larger spans Wooden lintel Steel lintel Brick lintel Stone lintel foieer &1 Tg<rs #l Forv f9aTr &3 gse Toicel T feicat o Tolcar e folecer B| 1
without increasing the depth of lintel? T & fov fFg R &1 folca
e fohar Sirar 87
15 [Identify the type of arch? Segmental arch Flat arch Semi - circular | Semi - elliptical arch |3 & YR ST Tgdle] Hi? T 3Th ol 3T 37 MR A | 3 -qEgeddR | A | 1
arch 3T

ADNS1M7116




16 [Which type of arch does not require rise? Segmental arch Semi circular arch Flat arch Horse shoe arch  |foh& YR & 3T T gt Y JIHCA 3Teh 37¢ MR 3T ol 3T 13T ATl 3
HTERIHAT T8 82
17 |What is the Minimum bearing that should be 10 cm to 15 cm 20 cm to 25 cm 10 cm to 20 cm 15cmto20 cm  |=gaIdHA ﬁ'qﬁ?T FAT L o oIpar AT | 10WHAT § 15T | 20 98T & 25 3T | 20 4T @ 25 AT | 15 AT @ 20 GAT
provided for a wood or timber lintel? dher & foledl & OIT YT far
ST =nfgue?
18 [What is the part marked as ‘X'? Springers Crown \Voussoirs Pier X'& & H REAT AT F97 g2 r==piesy R AR IR
X
19 [What is the purpose of piers in an arch? To clad the arch Tospanthearch | Torestthe arch | Tocrownthe arch [T&h 3T & TATT T 32T FAT g2 |AGT F FoIs F 0| ARSI H UC & | 3T & TgR & |Ad & RIT &
o o o
20 |What is the advantage of voussoirs in an arch? To support the wall | To decorate the | Toform an arch |To increase the cost|t& Hg§ H IHRR FHT FAT SlaR & U8RI o | #ASd Holld & | AT Hl Th AT | IR deled & [ov
arch uniformly BRIET §? F faw fow T & fT
21 |Which type of arch has the centre point below the French arch Semicircular arch Flat arch Segmental arch (& YR & 3iTeh A TR dTset hd 3Teh IUGedThR A ol 3T JQIHCA 3Teh
springing line? F A g &g giar g2
22 |Which type of arch requires wooden lintel to span Relieving arch French arch Dutch arch 2 point arch e YR & I W THIT F Renfaer 3T % AT =T 3 ar fog amd
over? foed I 3maeTRar gidr g7
23 [What is the difference between brick arch and Heights are different |  Materials are Functions are Positions are  [3¢ 3Md 3R g3 3 & &g 3R | Fodls Al & A AT & FY T & feafa 3rerer 8
wooden arch? different different different FaT §?
24 |Why is RCC lintel better than wooden lintel? Cost is more Durability is more | Strengthis less | Easy to transport |3TRENE focer efhsl & foicer & deTa 3 § TRca 3t ¢ | TUR—ica A g | IRdgd & fow
IER FAT §? T
25 [Which material of arches is used in factory Cement mortar Brick arches Steel arches Wooden arches |[#RES & HdAl & AT $T fhg | e AR A 3T &Y A T T AT | ofhar T AT

buildings?

arches

I T 39T R Srar 87




Name of the Trade : Architectural Draughtsman 1% Sem - NSQF - Module 8 : Elements of Design and Building materials

# |[Question OPT A OPTB OPTC OPTD Question OPT A OPTB OPTC OPTD Ans [Level
1 |What is the advantage of providing texture for | It increases the It enhances the It provides It can withstand load [T SART & SEL BEH &I Ig AT Hr g gdg HT g HdT Fl AT | T§ AR ST AT B 2
exterior of a building? cost of quality of the strength to the SATGE YeTd e H FAT BIISl 82 | IRl & §¢ldl § | I[0Tdedl ' Tl & geTeT LT & FT ol &
construction surface building
2 [which material is recommended for fire Bamboo PVC Wood Concrete 37meT gfay AfS 3R & & fov Eiral CIEIE: EEE Fehlc D 1
resisting floor and roof? FiT O arTalt Hr [wRer
ST 872
3 [Which element has no length, width or depth? Line Point Circle Square e Teldie & FIg oarg, T aT CIED] f§g ged g B 1
TENS E 2
4 |which element has length, direction and Volume Plane Line Texture g Tellde & oeTs, 62m 3R AIdT o BIEG EEICH C 1
position? ufa g2
5 |[What is the properties of a point? Itis centralized |Describes an edge | Repetition of lines | Formation of plane |Ueh faig & 301 &1 g7 I Salhd AR e off Tt & | Sl B Geligicd | @AGS @ HACT | A 2
and directionless of any space e & PR T qui
AT ¢
6 |What is the natural process of rendering timber Scribing Seasoning Studding Veneering 9 T oThaT UeTeT el hl E=aco Hrorfetar T TaeAITaT B 1
free of the sap called? grpfae Ifshar a1 Fgelrdl 87
7 |Which material requires moulding to make it Sand Stone Brick Cement e @l &I faHor & fo I T 3c e C 1
usable for construction? 3YART A & v AlfesT Hr
HTGRIHAT Bl 82
8 [Which method of burning is used for bricks? Motor mill Kiln burning Grinding machine Seasoning kiin |31 & T STt &1 fra Al &t A AT TFeleT fetar st AT St fFeret B 1
39T faRaT SATdT 872
9 |Which color scheme consist of using one color | Monochromatic Analogous Achromatic Complementary  [foh& ToT TSI & 37e1aT-3el3T T T ECikTiED 96
in varying intensities? Jdadr 7 T [T H YA gar g2 A 1
10 [Which stone has high crushing strength? Sand stone Lime stone Marble Granite T Uc2X T 3Td HiAWT T gl g8 T ASH T AT AeATSC D 1
g7
11 |[What is the use of lime in mortar? It provides shape | Itincreases the | It provides colours | It acts as binding |[AICR H TeI I T 39T g7 Ig R Yelel (T Sieflel I SGIcl §|TE 3T Yald Rl ¢|Tg STegeprl FeEll | D 2
burning material FIAT & F T H FF FLr
€
12 [Which color is said to be a neutral color? Black Red Blue Green T W1 FI 3T WT FHgl AdTl 87 el BIGH et g A 1
13 |Which material is obtained by crushing old Cement Sand Lime Surkhi g1 §€ 3R T+ S¢ #T 9gd e a Tl g4 D | 1
bricks and brick bats to very fine powder? AL U3 H AT FT HiT A
AT gred Fr S 82
14 [Which element has shape, surface, orientation? Motion Space Point Plane TR TellAc H 3Tid, 9dg, EG] T2ATT fog Tolsd D 1
feRmeaner &7
15 |What is the distortion of shape occurring Wet rot Warp Dry rot Foxiness THS F AT F GRIT gled arell Jec c e 315 IC BIFHT B 1
during shrinkage of wood? smpfa & Refa Far g2
16 [What is a plane figure bounded by three sides Square Circle Triangle Line T T@dgr 3R JdiT Hon T By g Ied EE CIEC C 1
and three angles called? g3 U Toldd T T Hel SIam 872
17 [Which one is an example of parallel plane? Curved line Railway track Man hole cover Square sheet HHATATAR Told T 3GIgI0T hisd AT gsh Y@r I gy A gl dax PR ATE B 2
g7
18 [What is the function of good sand? On drying it Shrinkage should | Density should be | It should not set early [37&T ¥ &T SR FT g2 @A W 38 AR | [@Fpsa I gerem Helcd hH IAT | STedl AC =lgl gl | A 2
should prevent be increased reduced H eI s H

cracks in mortar




19 [What is the process of keeping concrete moist | Compaction of Finishing of Curing of concrete | Placing of concrete [T AT 3l & TIT Fshlc &l | Fohlc ol THeled | hohlc hl TRSHIUT | FHohlc &l Sollol Fohlc ol STITE
for a certain period? concrete concrete 7 @ T gfehar F4T 872
20 [What is the major ingredient in cement? Gypsum Lime Iron oxide Alumina AT # 97T °cah FAT g7 =] AT 3R IFAES T A
21 [What is the function of good mortar? It helps to fill up |1t helps to increase | It helps in taking It helps in water |3 HICR &l HI T g2 Ig TS # @relt g Thlad I |Tg oS o H HAee | T§ Slel 31T dTel
empty joints in shrinkage load logged areas SISt & T H | §gld H A Il FAT § &3 F Acg AT ¢
masonry GG AT § ¢
22 |What is a plane figure having four equal side Circle Square Point Font IR FAT Tdg IR IR FHBIOT ded gar ﬁg BleC
and four right angles called? aTel FHCS 3T & Telel &I FT
FEd 82
23 [What is the cement sand ratio for brick 1:1 2:4 3:2 1:6 3¢ e & fow We 39 39 1:1 2:4 3:2 1:6
masonry? FIT §?
24 |What is a prismatic solid bounded by six equal Pyramid Cylinder Sphere Cube ©E HHAW TR A3 ¥ O wh IERIEES ferst rell el
square sides called? i 319 FAT Fgarar g7
25 [Which one is a natural defect in timber? Rind gall Seasoning Sap wood Bark IHST H HiA AT Th i Gy REr e Hraifatar |9 g3 ool
&2
26 identify the correct principle of line? Line describes Line has no Line has volume [Line marks a position [a3sT & T&l [GGId $I Tgdlel d? | I@T gl I quled T HT HIg AR H AT W T H T
the edge and dimension in space Fr § 3R T | AT 6T T ® BT § eufa & RfgaT
gives shape to FI PR Sl & AT §
planes
27 |What is the mortar ratio for pointing of 31 1:1 2:1 6:1 FATSIT AT I & [T ACR 31 1:1 2:1 6:1
cladding? HeJ T AT 82
28 [What is the purpose of providing windows for To provide light | Toincrease the | To decrease the | To provide shape to [F#RT & foT WEFaT UereT Al | Uahrer 3R dfeeee | AR & 3R AT FmeTa Fr 9 Sl TR
rooms? and ventilation room size construction cost the building FT 3T FAT g7 gelel el & folw el & fow FH Il & T | YeeT e & fov
29 [Columns and beams form what kind of Circular structure | Framed structure | Non load bearing | Horizontal structure [&fefd 3R Sid fohd TR T TcdThR AT heg T el s faar aifasr TRae
structure? structure TIGAT &2 TITAT
30 |Which one is an natural source of light? Space Sun Surface Fire GeRIA I UThicieh Fid Pled AT g2 g T Tds 37197




